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Answer key 

Comprehension 2 & 3 

1 A 

2 A 

3 i) took a stroll to see the Hong Kong Island skyline (any reasonable answer) 

 ii) watched a light show (any reasonable answer) 

4 1863 

5 They both have underground trains, trams, buses and Light Rail. Also, they both use smart 

cards for paying the fare. (any reasonable answer) 

6 because she misses her cousin/she can take her cousin on a tour around the city (any 

reasonable answer) 

7 fuss 

8 tourists 

9 ding, chug 

10 i)  

 ii)  

 iii)  

 iv)  

11 D 

12 i) simile 

 ii) metaphor 

 iii) simile 

 iv) metaphor 

 v) personification 

13 i) hospitality 

 ii) highlights 

 iii) undeniable 

 iv) spellbound 


